0002186093187999

o0 WMEXKE 00—

2016 F R 28 2 M

2

a®TEOEHEL, f(x)=|224+2ax+al e B<. UWFOMIZEZ L.

(1) x*+2ax+a= (x+a)-a*+a

(1) y= f(x) DT Z57DORHE%E T,
) y=f(x)DTZ7mhF (-1, )z @dLEIDanfiz kD&, T/, TOLEDy=f(x)DI>7%

x WiC I = 5 BB O MR % K L.

k.
4

= (x+a)’-a(a-1)

£
Btk

(3) a=2¢F3. TATOEM2ITRNLT f(2) 220 +bAKY ok 5 RFER b OHLY > 2 (HOFEH%E K

T78=fx
/

(o<t ar¥ ~a(a~-1)>0 T35, -a(a~1)
TAT o ,'E%th;:aur, x*+2ax+a >0 -;1 0 > X
L= (x+a) -ala-1) (hoca<ime¥
Ghr a=1oex Fo=|+1?] = (x+1) y
i T l( I ) Y=f(x)
(Ha>1 0¥ x*+20x+a=0n02>0f5% /
1
d=-a-ya(a-1 , p=-a+tfaca-1n £dCL .
= 0
fx) = {x”mx'ﬂl (x3a,p2x0crF)
- 2 + i;
(*+2ax+a) (d<x<P at¥) G RS T B

M~ @) LY TT7IREL) T3,
@ 2=[1-2ata] 4. |1-a]=2

"'ﬂ.=*':3 ﬂ>0 ?WF‘; ﬁ=3

“

) d=Fx)
é

A a(a=t1)

75748 (W@ G & IlTY,
/

®=-3-45, f=-3+4¢ o~ (i) A> | ALF

o |-
I
B

! 3 _
T(f-a) =

. P 2 —y ﬁ
..s_L xK-bx -3 dx = L(I-ot)(x-ﬂ)dr

E

4

3 J@=Ffo-2xeH<E, foz2x+b & 9002b

~xX2-bx =2 (d<xX<P) & ~(x+3) 47

3(3():{1:21'21*2 (x3d,psx) & (x+1)+1

11T, a=-2-42 , f=-2+42 , J(X)=f(d)-2d = 24
J(Pr=F(B)~2p=-2p 4T, maT77¢ Y=ba7774

bS~2p $7m5, bs 4-243

<




